

1. کتاب (سناری) / دوازدهم فصل 1 پیدا کردن نقطه 14:

$$3. \Lambda \cos \alpha = 1 + \tan^2 \alpha \rightarrow \Lambda \cos \alpha = \frac{1}{\cos^2 \alpha} \rightarrow \Lambda \cos^3 \alpha = 1 \quad (2)$$

$$\rightarrow \cos \alpha = \frac{1}{\sqrt{\Lambda}} \rightarrow \begin{cases} \sqrt{KM} + \frac{\mu}{\sqrt{\Lambda}} \\ \sqrt{KM} - \frac{\mu}{\sqrt{\Lambda}} \end{cases} \rightarrow \frac{\mu}{\sqrt{\Lambda}} \rightarrow \boxed{\text{جواب 2}} \rightarrow 2$$

$$7. \omega - \omega \cos^2 + \gamma (\cos^3 - \cos) = -\gamma \quad (3)$$

$$8. \omega - \omega \cos^2 + \Lambda (\cos^3 - \cos) + \gamma = 0 \rightarrow \Lambda \cos^3 - \omega \cos^2 - \gamma \cos + \gamma = 0$$

$$9. \cos^2 = 1 \rightarrow \sqrt{\Lambda} \cos = 1 \rightarrow \begin{array}{l} \Lambda \cos^3 - \omega \cos^2 - \gamma \cos + \gamma \\ - \Lambda \cos^3 - \Lambda \cos^2 \end{array} \quad \begin{array}{l} \frac{\cos^2 + 1}{\Lambda \cos^2 - \cos + \gamma} \\ \frac{\gamma \cos^2 + \gamma}{\Lambda \cos^2 - \cos + \gamma} \end{array}$$

$$12. \frac{(\cos^2 + 1)(\Lambda \cos^3 - \cos + \gamma)}{\Lambda \cos^2 - \cos + \gamma} = 0 \rightarrow \cos^2 = 1 \rightarrow \begin{cases} \sqrt{KM} + \mu \\ \sqrt{KM} - \mu \end{cases} \rightarrow \boxed{\text{جواب 15}}$$

$$14. \gamma \sin \alpha (\cos^3 \alpha - \sin^2 \alpha) + \sin \alpha = 1 \quad (4)$$

$$15. \gamma \sin \alpha (1 - \gamma \sin^2 \alpha) + \sin \alpha = 1 \rightarrow -\gamma \sin^3 + \gamma \sin = 1$$

$$16. \rightarrow \sin^3 \alpha = 1 \rightarrow \begin{cases} \sqrt{KM} + \mu \\ \sqrt{KM} - \mu \end{cases}$$

$$17. \alpha = \frac{\sqrt{KM}}{\sqrt{\Lambda}} + \frac{\mu}{\sqrt{\Lambda}} \rightarrow \alpha = \frac{\sqrt{KM}}{\sqrt{\Lambda}} + \frac{\mu}{\sqrt{\Lambda}} \rightarrow \left\{ \frac{\mu}{\sqrt{\Lambda}}, \frac{\omega \mu}{\sqrt{\Lambda}}, \frac{\gamma \mu}{\sqrt{\Lambda}} \right\}$$

$$19. \rightarrow \frac{\mu + \omega \mu + \gamma \mu}{\sqrt{\Lambda}} = \frac{\Lambda \mu}{\sqrt{\Lambda}} = \frac{\omega \mu}{\sqrt{\Lambda}} \rightarrow 2$$



$$\sin\left(\frac{\pi}{4} + \alpha\right) \Rightarrow \text{Unit Circle Diagram} \rightarrow \cos \alpha \quad (3)$$

$$\cos\left(\frac{\pi}{4} + \alpha\right) \Rightarrow \text{Unit Circle Diagram} \rightarrow -\sin \alpha = -\sqrt{2} \sin \alpha \cos \alpha \quad 2$$

$$\Rightarrow \frac{1}{\cos \alpha} - \frac{1}{\sqrt{2} \sin \alpha \cos \alpha} = 0 \rightarrow \frac{1}{\cos \alpha} = \frac{1}{\sqrt{2} \sin \alpha \cos \alpha} \rightarrow \sin \alpha = \frac{1}{\sqrt{2}} \quad 4$$

$$\begin{cases} \alpha = \frac{\pi}{4} + \frac{\pi}{4} \rightarrow \alpha = \frac{\pi}{2} \rightarrow \frac{\pi}{4} \\ \alpha = \frac{\pi}{4} + \frac{3\pi}{4} \rightarrow \alpha = \frac{\pi}{2} + \frac{\pi}{4} \rightarrow \frac{3\pi}{4} \end{cases} \rightarrow \frac{\pi}{4} = \frac{\pi}{4} = \alpha$$

$$\tan \alpha = \tan \frac{\pi}{4} = 1 \quad \tan \alpha = \tan \frac{3\pi}{4} = -1$$

$$\cos\left(\alpha + \frac{\pi}{4}\right) = \cos \alpha \cos \frac{\pi}{4} - \sin \alpha \sin \frac{\pi}{4} = \cos \alpha - \sin \alpha = \frac{1}{\sqrt{2}} \quad (3)$$

$$(\cos \alpha - \sin \alpha)^2 = \cos^2 \alpha + \sin^2 \alpha - 2 \sin \alpha \cos \alpha = \frac{1}{2}$$

$$2 \sin \alpha \cos \alpha = 1 - \frac{1}{2} = \frac{1}{2} \quad 10$$

$$m(\cos \alpha - \sin \alpha) = \sqrt{2} \sin \alpha \quad 11$$

$$m\left(\frac{1}{\sqrt{2}}\right) = \sqrt{2} \times \frac{1}{2} = \sqrt{2} \rightarrow \frac{m}{\sqrt{2}} = \sqrt{2} \quad 12$$

$$\frac{m}{\sqrt{2}} = \sqrt{2} \rightarrow m = 2 \quad 13$$

$$\sin \alpha \cos \frac{\pi}{4} + \cos \alpha \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2} \sin \alpha + \frac{1}{2} \cos \alpha \quad (4) \quad 15$$

$$\cos \alpha \cos \frac{\pi}{4} + \sin \alpha \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2} \cos \alpha + \frac{1}{2} \sin \alpha \quad 16$$

$$\left(\frac{\sqrt{2}}{2} \sin \alpha + \frac{1}{2} \cos \alpha\right)^2 = 1 \rightarrow \sin\left(\alpha + \frac{\pi}{4}\right) \cos\left(\alpha - \frac{\pi}{4}\right) = 1$$

$$\sin\left(\alpha + \frac{\pi}{4}\right) = 1 \rightarrow \alpha + \frac{\pi}{4} = \frac{\pi}{2} \rightarrow \alpha = \frac{\pi}{4}$$

$$\cos\left(\alpha - \frac{\pi}{4}\right) = 1 \rightarrow \alpha - \frac{\pi}{4} = 0 \rightarrow \alpha = \frac{\pi}{4}$$

$$\left\{\frac{\pi}{4}\right\} \rightarrow \text{Unit Circle Diagram} \quad 20$$

$$1 \quad \sin \alpha + \sqrt{r} \cos \alpha = \sqrt{r} \quad \Rightarrow \quad \frac{1}{r} \sin \alpha + \frac{\sqrt{r}}{r} \cos \alpha = \frac{\sqrt{r}}{r} \quad (V)$$

$$2 \quad \sin \left(\alpha + \frac{\pi}{2} \right) = \frac{\sqrt{r}}{r} \Rightarrow \left\{ \alpha + \frac{\pi}{2} = r\pi + \frac{\pi}{2} \rightarrow \alpha = r\pi - \frac{\pi}{r} \right.$$

$$3 \quad \left. \alpha + \frac{\pi}{2} = r\pi + \frac{\pi}{2} \rightarrow \alpha = r\pi + \frac{\pi}{r} \right\}$$

$$4 \quad \alpha = \left\{ -\frac{\pi}{r}, \frac{r\pi}{r}, \frac{2\pi}{r} \right\} \rightarrow \frac{r\pi + 2\pi - \pi}{r} = \frac{r\pi}{r} = \frac{4\pi}{2}$$

$$5 \quad \sin \left(\frac{4\pi}{2} - \alpha \right) \Rightarrow \bigoplus \Rightarrow -\cos \alpha \quad (1)$$

$$6 \quad -\sin \alpha \cos \alpha = 1 \rightarrow -r \sin r\alpha = 1 \rightarrow \sin r\alpha = -\frac{1}{r}$$

$$7 \quad \left\{ r\alpha = r\pi + \frac{\pi}{r} \rightarrow \alpha = \pi + \frac{\pi}{r} \right. \rightarrow \left\{ \frac{\pi}{r}, \frac{2\pi}{r}, \frac{3\pi}{r}, \frac{4\pi}{r} \right\}$$

$$8 \quad \left. r\alpha = r\pi + \frac{2\pi}{r} \rightarrow \alpha = \pi + \frac{2\pi}{r} \right\}$$

$$9 \quad \frac{\pi + 2\pi + 3\pi + 4\pi}{r} = \frac{10\pi}{r} = \frac{5\pi}{2} \rightarrow ?$$

$$10 \quad 1 + \cos 2\alpha = r \cos^2 \alpha, \quad 1 + \cos 2\alpha = r \cos^2 r\alpha, \quad 1 + \cos 4\alpha = r \cos^2 2\alpha \quad (2)$$

$$11 \quad \frac{1}{r} (r \cos^2 \alpha) \times \frac{1}{r} (r \cos^2 r\alpha) \times \frac{1}{r} (r \cos^2 2\alpha) = 1$$

$$12 \quad \frac{1}{r} \sin^2 \alpha \times \frac{1}{r} \sin^2 r\alpha \times \frac{1}{r} \sin^2 2\alpha = \sin^2 \alpha$$

$$13 \quad \sin^2 4\alpha = \sin^2 \alpha \rightarrow \sin 4\alpha = \pm \sin \alpha \quad \text{--- } \sin(\alpha + \pi)$$

$$14 \quad 4\alpha = r\pi + \alpha \rightarrow 3\alpha = r\pi \rightarrow \alpha = \frac{r\pi}{3}$$

$$15 \quad 4\alpha = r\pi + \pi - \alpha \Rightarrow 5\alpha = r\pi + \pi \rightarrow \alpha = \frac{(r+1)\pi}{5}$$

$$16 \quad 4\alpha = r\pi + \alpha + \pi \rightarrow 3\alpha = r\pi + \pi \rightarrow \alpha = \frac{(r+1)\pi}{3}$$

$$17 \quad 4\alpha = r\pi + \pi - \pi - \alpha \rightarrow 5\alpha = r\pi \rightarrow \alpha = \frac{r\pi}{5}$$

$$18 \quad \text{max} \Rightarrow \frac{1\pi}{3} \rightarrow ?$$

1

2

3

4

5

7